Rekursion 1

Rekursion 2

Rekursion 3

3 * 2 wird zurtickgegeben

2 * 1 wird zuriickgegeben

1 wird zuriickgegeben

Fakultat von 3 rekursiv berechnen:

main ()

{

}

» z = faku (3);
printf ("....

nw

’

n,

z);

’

Aufruf von
faku mit
Parameter 3

v

long faku (n)
{

if (n > 1)

n hat den Wert 3

{ wahr
return n * faku (n-1);
} Aufruf von faku
return 1; 4 mit Parameter 2
}
v
}Ong faku (n) n hat den Wert 2
if (n > 1) wahr
{
return n * faku (n-1);
} Aufruf von faku
A i
return 1; mit Parameter 1
}
v
%Ong faku (n) n hat den Wert 1
if (n > 1) falsch
{
return n * faku (n-1);

}

return 1;

}




